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EMI]EDDED NETWORKING

{Enbedded S1'sterns)

Time:3 F[our.s Max. Marks:60

Note : I'his question paper coniains two parts A and Il.
Parl A is compulsol' u'hich carries 20 marks. Anstyer aii questions in Parl A.
Part B'consists of 5 Units. Ansrver any one full question from each unii.
Each queslion carrie s 8 rnarks and may have a. b, c as sub questions.

PART - A

l.a) \Vhat are the <iifferent t)'pes of serial Inter{aces used

b) \\rhat is the difierence betrveen "COIVI", "USB", "serial
c) Explain Header B1,tes in Ethernet Frames.
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d) Diflbrertiate exclanging nes
e) Explain SMAC.
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What is t RS232
Explain

Explain Control
Explain Control T

5.a) Explain lnterrupt Transl^ers in USB.
b) Explain Bulk Transfers in USB"

.:
5.a) What are the fouf basic elef-ients cf Ethemet?
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OR
7 .a), Explain IEEE Logical Link Control {oi'Ethemet..
b) Explain Protocol Encapsulation for Ethemet.

E u) Y'/hat are the advantascs and <lisarir,anlages o1' using bridges over
r r: Ethemct? " t, I ,, '

'c) Explain properties of rrliable netrvork <iesigir.

oF"
9.q) Erplain n.iultila1,er s*'itches in llthemet. ::

h) Hou'trafllc flou' nioiii'io;-ing is Ccne in Il{1,.'incl?
c) Hou' performance oihalf-duplex Il.,iremei. cl-iamels is measureii?
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10. For the data given irr the lable belot'. drau, the netu,ork. Crash thc actir,'ities and
determirie thc optintal cost of the projecr. and tl-re optintal dularion. l8]

Activitv Normal Crash
I)uration CostiRs.) Duration Cost(Rs.)

1-2 8 I 000 6 2000
1-3 1 I 500 2 3500
11:-+ 2 500 I 900

2-5 10 I 000 5 4000
3-1 ) 1000 1 2000
A<a-J 3 600 1 I0(.x)

'-a

11.

Indirect cost is Rs.700 per day"

OR
A project has been defined to contain the follou,ing activities. along ivith their
tirne estimates fbr: contpletion

a) Calculate 1

b) l)rau, the criti
c) Shou'1he early
d) \\/lrat is the probabi

the r,ariance for eacir actirril),.

ish tirnes and late siafi, Iate finish tin-ies.
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the project can be compietcd in 34 u,eeks?
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